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SOCIAL - 1 (25 MARKS)
SECTION -1
'/, mark questions. 20x'/, =10
First census in India — 1872.
First complete census in India — ?
2011 - sex ratio in India — 943 per thousand males.
In which year it was the highest after independence ..............
2011 — Male literacy rate in India — 82.14%.
Female literacy rate in India —?
Present fertility rate in India — 2.7
fertility rate in Andhra Pradesh —?
Highest population density in — Bihar state.
Lowest population density ?
Bhimbedka is in the state of —?
Juggi Jhopodis are — ?
Shivaji constructed a fort in Pratapgadh — It comes under which features?
Site, Situation, History
Cities with population between 1 to 10 million — Metropolitan cities.
Cities with population more than 10 million — ?
A group of houses within Revenue village ...........
Suvarnabhumi International Airportisin................
To identify a person as a migrant two criteria are used.
(i) Birthplace (i) —7
Every — person in India is migrant.
Saora tribes — Assam tea plantations.
Munda and Santhals — ?
The Emigration Act was passed in —?
Tyre centre settlement — 200 - 500 Kopis
Gadi centre settlements — ?
Which of the following does not come under Maharashtra sugar belt?
Nasik, Kolhapur, Satara, Ahmedabad
2001 census — How many people are reported as migrants?
2011 census population density in India?

Arrange the following districts in Andhra Pradesh in ascending order of their population
densities.

Guntur, Visakhapatnam, West Godavari, East Godavari
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SECTION - 1l
1 mark questions. 15x1=15
What is census? Who organises it?
Why low sex ratio is a cause of concern?
Which state has positive sex-ratio in India? Why?
What is meant by magnitude of increase in population?
Give two reasons for high population growth rate in India after 1900.
Differentiate between internal and international migration.
What is a settlement?
What is a Master plan? How is it useful?
Give two examples of Mega cities and Metropolitan cities each.
What is an aerotropolis?
What are the main reasons for expansion of urban population in India?
Write any two provisions of emigration Act.
Any two problems caused due to urbanisation.
What is sugr-belt?
What is the impact of migration on children's education?




